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MÔN TOÁN
I.Lý thuyết 
   Đại số : Đơn thức , đơn thức đồng dạng .
   Hình học : Quan hệ giữa góc và cạnh đối diện trong một tam giác  .
II.Bài tập 
1/ Bài tập sgk
         Đại số : xem lại các bt từ 15 đến 23/sgk/34,35,36
          Hình học : Làm các bt: 3 đến 7/sgk/ 56
              2/ Bài tập bổ trợ 
A. Đại số 
Bài 1: Phân thành nhóm các đơn thức đồng dạng trong các đơn thức sau:
-12x2y ; -14 ; 7xy2 ; 18xyz ; 13xyx ;-0,33 ;  -2yxy ; xyz ; x2y ; -xy2 ; 17 
Bài 2 : Tính tổng của các đơn thức sau:
	a/ 12x2y3x4 và -7x2y3z4 ;	b/-5x2y ; 8x2y và 11x2y.
Bài 3: Tự viết 3 đơn thức đồng dạng rồi tính tổng của 3 đơn thức đó.
Bài 4: Cho ba đơn thức: A = -12x2y4 ; B= -6 x2y4 ; C = 9 x2y4.
Tính A.B.C và A+B; A+C ; B+C ; A-B ; A-C ; B-C.
a) Tính giá trị của biểu thức B-A và C-A biếtt x = -2; y = 3.
Bài 5: Điền đơn thức thích hợp vào ô trống: 

	a/ 6xy3z2 + = -7 xy3z2;


	b/ - 6x3yz5 -  =  x3yz5.
Bài 6: Viết hai đơn thức đồng dạng tổng bằng đơn thức dưới đây có hệ số khác 0:
a/ 7x3y4;  	b/ 6xyz; 	c/ -12xy;

B . Hình học
Bài 1 : Cho tam giác ABC có AB=5cm; BC=7cm; AC=10cm. So sánh các góc của tam giác ABC?           


Bài  2: Cho tam giác ABC cân tại A, biết B = 450. 
a) So sánh các góc của tam giác ABC
b) Tam giác ABC còn gọi là tam giác gì? Vì sao?
Bài 3: 
a. So sánh các góc của tam giác PQR biết rằng PQ = 7cm; QR = 7cm; PR = 5cm
b. So sánh các cạnh của tam giác HIK biết rằng H = 750; K = 350

Bài 4: Cho ABC vuông tại A. Điểm K nằm giữa A và C. So sánh BK và BC.A
B
C
K







Bài 5: Cho ABC có AB < AC. Tia p/g góc A cắt BC tại D. So sánh BD và DC.D
B
C
A
B'
































ÔN TẬP: MÔN NGỮ VĂN 7 Tuần 12
Bài 1: 
Câu 1: Thế nào là câu chủ động, câu bị động? Mỗi loại câu cho một ví dụ.
Câu 2: Nêu các cách chuyển đổi câu chủ động thành câu bị động.
Câu 3: Chuyển các câu chủ động sau thành câu bị động.
1) Trong phần đầu văn bản “Tinh thần yêu nước của nhân dân ta”, Bác Hồ đã sử dụng rất nhiều biện pháp nghệ thuật đặc sắc.
2) Mỗi Tết Trung thu, Bác lại gửi thư hay quà cho các cháu thiếu nhi.
3. Ngài xơi bát yến vừa xong.
4) Tôi dành hầu hết cho em bộ tú lơ khơ, bàn cá ngựa, những con ốc biển, bộ chỉ màu.
5) Ngót ba mươi năm, bôn ba bốn phương trời, Hồ Chí Minh vẫn giữ thuần túy trong mình cốt cách, tính tình của một người Việt Nam.
Bài 2: Nhớ lại văn bản “ Ý nghĩa văn chương” rồi trả lời câu hỏi sau: 
Câu 1: Theo Hoài Thanh,  nguồn gốc cốt yếu và công dụng của văn chương là gì?

Câu 2: 
a. Giải thích câu của Hoài Thanh "Văn chương gây cho ta những tình cảm ta không có, luyện những tình cảm ta sẵn có".
 b. Em hãy tìm những dẫn chứng trong một số văn bản đã học chứng minh câu nói đó của Hoài Thanh. Trình bày bằng một đoạn văn nghị luận chứng minh khoảng 8-10 câu. Trong đoạn, có sử dụng 1 câu bị động, gạch chân và chỉ rõ câu bị động ấy.












PHIẾU BÀI TẬP ANH TUẦN 12
I. Choose the word which has a different stress pattern from the others.
1. 	A. beauty	B. career	C. fireworks		D. harvest
2. 	A. award	B. drama	C. actor		D. hero
3. 	A. appear	B. prepare	C. allow		D. happen
4. 	A. police	B. story	C. cowboy		D. western
5. 	A. relaxed	B. boring	C. moving		D. awful
II. Choose the correct answers.
6.	All critics said film was really 		; nevertheless, I was so 	 that I saw it from beginning to end.
	A. interesting – boring		B. boring – interesting
	C. interested - bored		D. boring - interested
7.			 having a happy ending, the film starts with a terrible accident.
	A. Despite	B. Although	C. However	D. Nevertheless
8.	In spite of the silly 		, many people enjoyed that comedy. 
	A. actor	B. scene	C. character	D. plot
9.	Although the acting is wonderful, the ending is very 		
	A. exciting	B. fantastic	C. interesting	D. boring
10.	They spent a huge amount of money on the film; 		, it was not a big success 
	A. althoughB. however	C. but	D. because
11.			 Johnny Depp is a famous actor, he has failed in his recent films.
	A. AlthoughB. Despite	C. However	D. Because
12.	Who is going to 		 the Oscar for Best Actor this year?
	A. get	B. take	C. win	D. pass
13.	The film Titanic was the most successful – it 		 $1.750 million and 		 eleven Oscars.
	A. did - gotB. made - won	C. won - made	D. got - did
14.	Charlie Chaplin was the most famous 		 of the silent films.
	A. star	B. acting	C. plot	D. scene
15.	Cameron Diaz and Julia Roberts are the best-paid actresses – both 		 $20 million for their last films.
	A. took	B. did	C. paid	D. earned

III. Complete the sentences with the correct words from the box.
	violent	musical	enjoyable	imagined	interesting
exciting	romantic	boring	frightening	funny


1.	A cartoon is usually 	.
2.	A horror film is always 	.
3.	A comedy is often 	.
4.	A love story is always 	.
5.	A 				 is a play or film in which part of the story is sung to music.
6.	An action film can be very  			.
7.	A science fiction film is often about a(n) 				 future.
8.	A historical film can be 				 because of bad acting.
9.	A thriller is a film which has a(n) 			 story, often about solving a crime.
10.	It is very 			 to know the origin of the plot and stories around it.
IV. Complete the sentences with the types of films from the box.
	drama	documentary	sci-fi film	thriller	comedy
	musical	animated film	action film	romantic film	horror film	

1.	People fall in love in a 			.
2.	There is a lot of singing and dancing in a 			.
3.	I laugh a lot when I see a 				.
4.	There are often UFOs and aliens from space in a 			.
5.	A 					 can be too scary to me.
6.	There are usually a lot of guns and car chases in a(n)			.
7.	I sometimes cry when I watch a 				.
8.	Drawing seem to move and talk in a(n)			.
9.	A 			 is a film that gives facts about a topic.
10.	A 			 is a film with an exciting story, especially one about crimes.
V. Choose the word or phrase among A, B, C or D that best fits the blank space in the following passage.
Running of The Bulls - Pamplona, Spain
	The Running of the Bulls is a (1)	 of the famous San Fermin festival - a practice that involves running in front of a small group of bulls (typically a dozen) that have been let loose on a course of a town’s streets. A first firework is set off at 8 a.m. to alert the runners that the corral gate is (2)		. A second firework signals that all six bulls have (3)		 released. The third and fourth fireworks are signals that all of the herd has entered the bullring, marking the endof the event. Every year between 200 and 300 people (4)			 injured during the run (5)		 most injuries are due to falls and are not serious. So you think you support it?
1.	A. part	B. whole	C. section	D. piece
2.	A. to close	B. closed	C. open	D. opening
3.	A. be	B. been	C. being	D. to be
4.	A. are	B. were	C. have been	D. had been
5.	A. because	B. so	C. although	D. but
VI. Read the following passage, and then tick the correct answers: true (T), or false (F).
Hung King Anniversary
	The Hung King Temple Festival is annually held from 8th to the 11th days of the third lunar month. The main festival day is on the 10th day of the third lunar March, on which the National Assembly has approved Vietnamese working people to annually have one more national holiday to mark the anniversary of the Hung King’s death. Every year, on this traditional occasion, Vietnamese people worldwide join their brothers and sisters in spirit to observe Vietnam National Day in commemoration of their ancestors. The main ceremony takes place at the Hung Temple on Nghia Linh Mountain in Phong Chau District, Phu Tho Province, about 85km northwest of Hanoi. The Hung King Temple Festival is one of the most important and sacred festivals of the Vietnamese people, deeply imbedded in the minds of every Vietnamese citizen, regardless of where they originated from.		
1.	The King Hung Anniversary is yearly held at the first half of the third lunar month.	
2.	It has become one of the national holidays recently.	
3.	The Vietnamese show their respect to the ancestors on this occasion.		
4.	The ceremony only takes place at the Hung Temple in Phu Tho Province.		
5.	The Hung King Temple Festival is mostly for entertainment.		
VII. Read the text carefully, and then answer the questions.
The Lord of the Rings
	The three Lord of the Rings films appeared in 2001, 2002, and 2003. They are based on the novels of the British writer J.R.R. Tolkien. Director Peter Jackson filmed them in New Zealand. They cost more than $300 million to make, and, in all, more than 20,000 actorsappeared in the three films! After Titanic, they are the three most successful ever, taking over $3 billion in total! The final film The Return of the King won 11 Oscars. In some countries, fans queued for three weeks to buy tickets.
1.	When did the three Lord of the Rings films appear?
2.	Whose novels are the films based on?
3.	Who is the director?
4.	Where were the three Lord of the Rings films filmed?
5.	How much did the films cost to make?
6.	How many actors appeared in the three films?
7.	How much money could be got from the three films?
8.	What was the final film of The Lord of the Rings films?
9.	How many Oscars did the film The Return of the King get?
10.	Did it take a long time for fans to get tickets for the film The Return of the King in some countries?
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